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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any five questions.

3.  All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1 Trace the various factors responsible for India’g Great
Slowdown? Suggest the remedial steps required tqg be

taken.
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2. What do you understand by the “Great Reversal”
happening in the recent past of the Indian growth
story? What role did global factors play in the
happening of the Great Reversal?
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3. “Agricultural development must address the issues of
doubling farmer’s income and increasing agricultural
productivity,” Critically evaluate this statement.
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What are the major problems in agricultural marketing?
Why are agricultural market reforms required? Is there

a trade-off between efficiency and equity?
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Discuss the impact of Foreign Direct Investment (FDI)
and Foreign Portfolio Investment (FPI) inflows on the
Indian economy. List some of the policy options that

the government needs to pursue to boost inflows?
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“Economic reforms have failed to increase the pace
of growth of the Indian manufacturing sector”. In the
light of the above statement, discuss the strategies

required for better industrial development.
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7. Discuss major labour market reforms and remedial
measures in addressing the irregularities that exist in

the Indian labour market.
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8. “The services sector has emerged as the backbone
for the Indian economy but has failed to generate
enough employment opportunities”. In this context,
explain the challenges and opportunities for India’s

services sector.
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